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1. The eircuit gleaws in Fig. 1 15 2 BT manostable multivibretor, When condueting, the
1rnsisiers are saiurated.

[a) Skerch 1l base volage of O, ¥, fam £ =107 just prior to the applicesion of the
trigger, to £ = T just afiee the cirerit hos retuened 1o its stable st {7470
{h) Dherive an cxpresaign far T, the prlae width. {8 45
2. The circnit showa i B 2 §s 8 NAND gaie,

(ayIf B =25 what is the fan-ou? (T4
tbrh Wkt is the avermge power dissipoded by the gace assuming ¥ = F{1) 50 porcent of the tims?
(853

J. The Lansisiars O and {7, in Fig. 3 are identical and bhave [T = 200
(%) Derermine Joq ad L5 (95
fb} Find R, sothat #, =6V, {757
4. For the circuit shawn i Fig- 4, boile divdss are ilentizal, comducting 10 mA a¢ 0.7 % and
100 A ar 2V, Find the valoe of R, forwhich ¥ =250 mV, (1549
3. The wransisiors of the circuit i Fig. 5 have the Bllowing pacamneses: Fop e,
Togr =4MA V. =-2V far Oy, [Fec| =07V, B=i00.
{a} Find the walues of Ap. Ap, 8 to operateCh a0 Fo=1mA o @, u - =%mA
and to establish 2 de voltage of +13.5 % 2t the drain of £ Aesome thar ¥, hag 4 a0
de camponent, (1047
(B) Calevlate the vatue of A, =¥ /¥, (104
. Design a Buttervorth fiter that meets the fallpwing lowepass speciffeations:
Jp=WkHz, § =|5%Hz, A__ =2dB and 4 =15d8E.

() Find the required order & | the natural modes, and trangfer Banctien 741, (1559
(b Whiet is the atteneavion peovided ot 20 %Hz, (559
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